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They cannot be independent therefore a,c,d cannot be
b correct

d These are all true, b) iff a) and c) if a)

stat 134 concept test

The joint distribution of X and Y is drawn below:
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a) X and Y are independent

b) If we divide both rows by their marginal probability we get the same
answer.

¢) P(X =2V =0) = P(X = 2|V =1)

11 of the above
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ex

A drawer contains s black socks
and s white socks (s> 0). | pull
two socks out at random without
replacement and call that my first
pair. Then | pull out two socks at
random without replacement and call
that my second pair. | proceed in
this way until | have s pairs
and the drawer is empty. Find the
expected number of pairs in which
two socks are different colors.
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